Globalization

=

= Z2 m o m < m Z n - O X < O
- > =22 m 0 H N >» < Z2 0O >» =
N Z - m 2o mWwnw -4 C O > C N -
> 0 Z nun<gmunm=TCcr o< X
> LN N O LN c @ YV XX H=Z MW
- m 20 20 0 O N 0 o< m N
m I < mm==22 20V O =2 < o » O
= C N N X OO H H Z » 00 2 -4 0

m
(@]
o
o
=
<
o
o

Play this puzzle online at :

© thewordsearch.com

o P> Z2 OH O N X XV O XMW@

- 2o m - m X0 - M X N XIT O ©

A N O m O m »nv omwn N O X

N O 0 nm = 2 2 - \»nn X 0 C

m OO CcCc m m MmO n o m << m

-1 0 N O Mmoo & O r o 0 W wn

m

PROLONGED
CRACHES
EMERGING
BIGGER
SUBPRIME
STORY
ECONOMY
AMERICA
INTEREST
MARKETS
RATE
VOLUMES
BOOMS
CURRENCY
AGONY
CATEGORY
EURO
NEVER
CRISIS
EXCHANGE
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